Math 220-02 Spring *16

Quiz #2 /&7
Find the indicated limits. Show your work where applicable.
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2. Deterniine whether the piecewise function is continuous or not gt the indicated values of XIf it is not
continuous, give a thorough explanation using the definition of “continuity at x = a.”
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3. A blue jeans manufacturer figures that the general cost of operating the machines fog a day i C\“K edl, b
regardless of how many jeans are made that day. Each pair of jeans will cost abouto make (forcost (h mxthb
of materials, labor, etc.). The selling price for each pair will be $28’.‘<vlo varable, "

How many jeans must be sold each day in order for the manufacturer to break even? GGy EMR Y
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Suppose the dailx cost og running the machinery goes upto $200. What price will the manufacture I;‘av '
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to charge per pair to MNO pairs of jeansjare soldeach day? (Round up to the nearest dollar.)
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